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1. Answer all 100 questions.
SR B0 SIPGESLCN Froib.
2. Each question carries one mark.
257, g o Sy

3. Choose the correct answer from the four (4) answers given for each question and
shade the relevant cirele in the OMR answer sheet with a HB pencil,

LEhE SR 30 (4) mesed® SO sorani SIS N0 OMR Sirey BiEtend’
3 sewofeln w66 HB 20,68' umw.

4. Do not write answers in the Question Booklet. Use the OMR answer sheet for
marking answers. Read the instructions given on the OMR answer sheet
carefully. ;

G1 (9% DBH0s’ adwow ooy, e Fouei OMR SSren 2ged srBie
oo, OMR mnmgms Bped® 20 Souten epEm Sased.

5.  For rough work, use the space provided below the page.
Sy wn B el do Rd Hunae dSaPeibL.

6. At the end of the examination, hand over the answer sheet to the
Hall Superintendent without fail.
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PART -1
GENERAL KNOWLEDGE AND TEACHING APTITUDE

1, The objective of the nrganiaaticﬁ ‘Amnesty International’ 'i-s 1111 L
(1) accelerate economic progress (2) fight for human rights
(3) conserve environment . (4) achieve complete rufal literacy
‘iR 0Bl Sop B0k, VKO |
(1) esB% ENOD Bpunonse C(2) BRs Seyel Sortitso

(3) Bor@HEeed, Sodiosto @) §g rRom ejisso gowso

2. The planet named after Roman ‘Gad of Agricaliure’ .........
(1) Venus _ (2) Earth
(3} Mars {4) Saturn
Bs JRIEDS B0l Bidraie B Hto q;‘.ﬁ_ga:du&. ‘
(1) - Sopads (2) &=

(3) Soeets (4) %

3. This acid is often used in Cola drinks to give an acid taste ........
(1) Phosphoric acid (2) Tartaric acid
(3)  Acetic acid (4) Malic acid

Sor PDoired® wi 8o Fok SEar dSaPhed - ——
(1) s esvo (2) «rbundE eso

(3)  whuk wloo | (4) »2dE el
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4, On bth May, 2012, Andhra Pradesh and Maharashtra have entered into an
agreement to construct the Pranahitha-Chevella Sujala Sravanthi project

named after .........
(1) Dr Y.S. Rajashekar Reddy (2) Dr B.R. Ambedkar
(3} Rajiv Gandhi ~ (4) Mahatma Gandhi

w0 5, 2012 © wogEns, Micles D8 BONmdn relrn-SD¢ lowe FHed
[PPRES MBEWRE 135080 Htolin s,

Q) o 3.5 oeiebod @) . D.eob. wodiS
(3) o2h med (4) Sohey mod

‘5, In the DLFIndian Premier League (IPL) 5, 2012 Cricket Tournament,
: Deccan Chargers has won twice over this team .........

(1) Chennai Super Kings (2) Ragjasthan Royals

(3)" Pune Warriors (4) Mumbai Indians |
&.35.25-g00 %8 ERecit BN (IPL)'S, 2017 (838 SWocusd® 4,5 E8y be
260D VSEIED Ccko T, |

(1) 3P, s0sb 3of (2) oo oraiody

(3) ©ff ToaE, {4) Swomwws godans,

6. According to the Right to Education Act, 2009, 'Child' means a male or
female child of the age .........

(1) 06 - 14 years (2) 0- 14 years

{3) 06 - 18 years (4) 03 - 15 years

ey iy, Bego, 2009 GV Wy’ wold 1 B BoBs Y oK BE O TR ...
(1) 06 ~ 14 Sodvdymes (2) 0 - 14 BeBByoen

(3 06 - 13 BontnTrey {4} 03 - 15 Scisoeeo

[3] ET.0O.
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= Asked to start a primary school, you would start a school .........

(1) that can admit and accommodate any child irrespective of his/her
abilities.

(2} that gives equal importance to academics and sports.

(3) that trains children for admission into technica! courses after higher
secondary stage.

{4) that adopts ability grouping. .
Lf Seal DEweR (Poofelnd ooy wad Dota B DRSS DT
ERBed) b,

(1) asp g o8 sowoge Sxoms D FLYPT IreTes” Bykd 0 MEEre
SHSNIE. |

() Doy Dkl Baed SIFIRED PR 89P0,

(3) norde Svaiiogh e 1% ot oo s 06 Stoises 358 q:.‘:aaba

(4)  SrBaty o wafPboT Shariion ST,

8. Ifyou find a child in your class who always isolates from the rest of class,
you would ...

(1} ask the child to be normal by taking the example of his classmates.
{2)  try to understand the underlying cause.
(3) leave the child alone so that the child comes out of it by his own.

(4) inform the management that his presence may effect other students of
the class.

o BUROE 2% homt Jplir oGO dows W Moo Dots Saiasid.

(1) & Sorlizeits WLl O RFaaFam Solidon Dk

Th

(2) A [HHESE Kore DUNG Desln Fobine S,

e ﬂﬂ@?:ba"ﬁa aSaEare et T DRe) St SaChetal ;’:&dﬁ

&
fw
517

(3}

(s Se qBY HOtoUs Bere iy 3580tk BOGD Windo.

-

ﬂn

{4)
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9. A teacher should be effective leader means .....
(1) . should be a good orator. -
{2) should inspire students to achieve goals.
(3) should maintain discipline and order ip class.

(4) should dominate colleapues.

SIPTFAHIES 2.5 GEPWSOBI PODHAT GG D 6ol .........
(1) S0l WE wom é.ac:;ﬂﬂ |

(2) oggw avaasmse Dorptiseto BB ITHD.
(3) Bunss® Eoigs dod FSeTd.

(4) v efgoesc Thomd.

10, Teaching - learning process will be more successful when .........
(1) there is a good interaction between teacher and students.
(2) teacher takes a lead role in teaching-learning process.
(3) . teacher concentrates mﬁre on subject teaching.
(4) strict disecipline is implemented in class.
GG PIS 8o P SOLORE ...,
(1) $3"§.‘u‘5¢h}f_“.¢ Eﬂ‘sﬁsu 0ls USRS T N e g DR = TR
(2)  adrgrgosod #ﬁmaﬁw é’a@ﬁ:é‘ ,H‘éﬁgﬁﬁ_g SRR DRSS,
(3) | a&:-smm DEEEHEE D8y Sobe8o0sED.

(4) SoHOE STHBRG (H0Arw K00 S,

{51 _ PT.O.
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PART -II
(A) GENERAL ENGLISH

11. They cancelled all flights because of fog.
The passive form of the above sentence is ...
{1} All flights cancelled by them hecause of fog.
{2) Al flights are cancelled because of fog.
(3) All flights were cancelled hecause of fog.
{4) All flights cancgﬂed because of fog,

12. You and your friend are walking over a wooden bridge. It is very old and some
parts are broken. What do you say ?

Choose the grammatically correct staterment :
(1) This bridge isn't very safe] isii't it ?

(2} This bridge isn't very safe, is it ?

{3} This bridge isn't very safe, isn'l this ?
(4) This bridge isn't very safe, wasn't it 7

13. Read the group of words given below.
tiny, hupge, horrible, minute
Fick out the word that does not belong to the group.
(1) tiny
(2) huge
(3) horrihle

(4) minute

14. Identify the part of speech of the underlined word in the following sentence.
She pronounced the word guite correctly. '
(1} adjective

(21 werb
(3} noun
(4} adverb

[6)
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15. I always have breakfast .......... .
The latter part of the sentence is ...
(1) before going to work,
(2) before I go to work,
(3} before I am going to work.
(4) | before I will go to work.

16. Identify the correct order of the jumbled parts of the sentence
that are labelled as'a', %', ‘¢’ and 'd.
(@) makes it, when tamed
(b} and its intelligence combined with its great strength
fe) the elephant is a very intelligent animal
(d} a very useful servant to man |
(1) cadb
(2) cbad
3y dabe
(4) cdabd

17. You are sitting in a train waiting for it to leave. It's already fifteen minutes late,
The ahove sentences can be combined into one and written as ...
(1} [It's time the train leave. '
(2) It's time the train to leave.
(3) 1It's time the train leaving

{4) Tt's time the train left.

7] PTO.
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(B) GENERAL TELUGU

G et RTeE TP

(1) o8, o, B 2) 2, @, DTSR

(3)  (owmy DR, T (4) 0P, HgEsR, A

508 0 oo &8 38 L e

(1) %o ' - (2) Wobse

(3) eSabe (4) DB

S{'cﬁﬁo R RO DT BEo

(1) v . (2) DEg®

(3) Hsses (4) [0

B! e SPR3 Pl go

(1) 3ceborl ui é}&goﬁ oL

(2) FoTd obod B Kok Mo

(3) oo wois 368 oo S Tud I

(4) g% Ditoy 2 sapE TR done

Dol 5056 wBgrse EEPie By af 8@ Sbodd

(1) 13oir $o002 ‘oatsy’ BBES (2) DRSePR egive JoEo
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26, ‘es BoomED G (GRES HORG EMPIRED qaec’ @iy BEERE0
(1} . S0 - (2) zErodw

(8) o (4) wonside

27, GERIS ST axd &ES0cUrD) ASHIROIT &ry’ &8 ...

(1) urdsecste epbood. (2) &dgooTic wiptuod.
(3)  eolfEEPuoTto wipBsd. (4) THEATY @oso ediood,

28, RESINLES et BSE 308 . k..
(1) ='zvods ted (2) w5 %ef

{3) Zomitas Bed : (4) SEISG Hoh

29. &oUSes DNl BEONE DETo oby SIS 1A F50d L.
(1) eomitm Bed (@ cﬁm’»fﬁs 568

(3) oo 960 (4) oS B0

30. THonSe I JDE DU U0 ...
(1) 1o mog (2) 30 o

(3) =% s (4) e dug

107



Download from JbigDeal

Q. Booklet
Code A

31, SUZREe ks SRS &S e
(1) Ared Erans (2) owgmed srass.

(3) DoTHed Lrass (4) DEsed Erdna

32, &40 303D 1085 B crrerrrens
(1) GomEoDd Bvodis uiy (2)  SocinmEoR3 Baoks, 95y

(8) woombed SPAS wby (4) 258 $PES ety

33. ik g 5ragded, SupSimnis, SNBmto B SRR DHEERIE TUEW ...
(1) Jomw Seytio (2)_ HiEdomese 3oy ¥adc

(3) Gl Syt (4)  SEsrse Slals o

34, HErS PoeéiSe, nX s arEde Dolipene’ BOR BoUhO v,
(1) Sockie§ mrerwio ncs&‘-."a;:u:@;f:.;a
(2)  Hoding T BefR TIRem DB
(B Sofn Tevgy JudumpE
(4)  EFH; DI Bed R TEmont Dk

35. TEEPOD TROTLTEE Y, SSaRaru Eeciress TP Bl BN BEFE .
(1) 5oGoas 50 (2) Sonte Bre

(B) Gyl darde (4) woopie Sarse

{11} ' BPL.O.
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36. FEDB o Ny HHSNH TB ...
(1) H&wbe (2) Sonde

(3) oPag | | (4) Dogrv
37. R, iy, SENNT R0 K0 DCIRGI® 0 BES - ....
(1) Fhgie ' (2) Aifmse

(3) ac¥o | ) Pesisos

38. ‘oo’ ey Br0Es N seodt iy, BPUche @iy, woves KngRainon. o5 5

ol TR @D ... .
(1) =&, S5k, =30 (2} 3G, &, BG
(3) wtoy, &G, BEHY (4} ZSoow, &mw, oo

39, SSesowo, HHOTUC! SN0 WHEPOY e
(1)  eBoarems S C(2) e SErdre

(B)  DBotioR BRrTes (4) BEEroAy BaTres

40, =¥ PaE darens 158 RE’ AEBLHOT BRINBOHES reee.
(1) eoed Seoo 2 (2) Sriy et

(8) g (4) BDBD Soetio

[12]
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PART - 111
{A) MATHEMATICS

41. IfA:B=4:9 and A:C=2:3;thenA:B:C is.........
AiB=4:9 28w A:C=2:3 woad A:B:C Jesws .......
1) 4:9:3 (@) 4:9:6
(3) 4:6:9 (4) 4:3:9

42. If A = {a, b, ¢} and B = {x, ¥}, then the number of functions from

A={qbc} w0ao B={r,y)} vond A Sed B 2 ghoaire Sop,
(1) 6 : (2 9
3 18 4> 8

£

43. The dimensions of a Cuboid are 5 m, 3.5 m and 2.4 m, then its surface area
(in 8q. metres) is ... o
.5 DY PolSico Gk, Sobes NS 5 Soestiz, 3.5 Dot Do0ain 2.4 Hoestiy eoxd
TR Bl dorge pToe (3. eyd’)
(1) 7756 (2} 78.5
3 B8 (4) 74.8

- Space for Rough Work

[13]



Download from JbigDeal

Q. Booklet
Code A

44, If o,Baretherootsof x%+ bx +c =0 and «+ &, p+ & arethe roots of

4 5’!

46.

% +gx +r =0, then'h'isequalto.....
A br+e =0 ed0P Bioioee ool arees o, b wldv et h, B+ A e
22 + gx + 7 = 0 &5 DY B205TeaY TorCres wand T Desk

0 b+gq- @ b-g

/| : 1
@ . 5 (b+a) @ 5 (-9

In a group of 36 persons; 20 like coffee, 22 like tea and 3 persons dislike both. .
The number of persons fike tea and coffee are ........

86 5300 o ¥ FrDSE” 20 So00 THI, 22 008 S FRSEE. 3 Kot BPse B
AEnEns Dododd G PO DOR .n... |

(1 9 (2) 6

3 7 4 8

3y 2 (4)

2
Ol bolo

Space for Rough Work

(14]
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47. Equation.of the line having y -intercept - 1 and making an angle of 150° with
the positive direction of X - axis is ....

X - eoe Qo) §Ee8 150° Sese Jiar ¥ - escdl podie — 1 Ko wiBy 3husteo
(1) x-8y-43=0 (2) x+/3y-v3=0

(3) x-l-f?;yh.@:[] {d4) x—ﬁy+~d‘r§=ﬂ

48. Ifthree points (¢, 2¢), (2¢, 6¢) and (3, 8) are collinear, then the value of ¥is....

(t, 2¢), (2t, 66) B0daiss (3, 8) e DaPss Doisges $ehoires wond ' Dess

(1) 4 (2) 3
(3) 2 4y 1
18
49. The value of the term independent of 'x'irt the expansion of (x?' ;] is ...

: :
(xz—l} D0’ x' B0 BEE DR ...,
x

(n 9 (2) 18
(3) 48 . {4) 84
Space for Rough Work

(151 ET.O.
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50. 1f cosec®-cotd = , where § 0, then the value of cos @ is ..
cosec B -cotd =:}§, {8+0) wot0d cos® e .......
. J3
1y 0 2) —
{1) (2) )
1 _ 1
@ 3 @ 7 |

51. The value of logtan 1° + logtan 2° + log tan 3° + .......+ log tan 89%is .....
log tan 1° + log tan 2° + log tan 3° + .......+ log tan 89° Deud ...

(L 0 2 1
(3) e ' {4) 2
' cos A sinA ‘l ™
82. If A= {Sinﬂ =0, A/J » then A’ls ...
cos A sSinA 1 g
= ﬁ.—, oy
(sinﬁ - C08 A}m'm'é A" o
~-coSsA —sinA msA. sin A
(13 -sinA —cos A @) -sinA -cosA

-cos A —sin AN . ; cos A sin A
(3 sinA cosA - (@) sinA -cosA

Space for Rough Work

[16]
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53. Thevalueof Zlogg2 - %logaﬁl 1B

2log 2 - %lﬂg:sg RSt
1 0 2) 1

3) 2 | 4)

o | =

54. Ifthediagonal of a Square is doubled, then its area will be ....

(1) 'Three times - (2) Four times
(3) Same (4) Two times
.5 58555 S0 Do et 0 peee :
(1) e Teao (2) Trenks Tess
(3) waHe : (4) DotsTew

55. If p, q are two statements, then ~ (p — ¢) isequalto....

P, g =>Boi Pavimes saxd ~ (p— @) Ja

(1) ~p—~gq ' (2) ~p—gq
3) pal~q) 4) pv(~q)
Space for Rough Work

[17) ETO.
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1-2x
56. The value of %' in the equation (E] =4 17 is.....
. - 5 27
1-2x
[.'?1) =4 17 5 Boimed® 't Dewd
5 27 - .
1 15 | @) 25
(3) 35 {4) 4.5

57. In a A ABC, AD is the median to the side BC and G is the centroid,
then AD : GDis....

AABC & A 08 BC Foerld AD 2830410 Tp Sooctin G ibtsoBoie sowd -

AD:GD
1y 2:1 @ 1:2
(3) 38:2 4) 3:1

Space for Rough Work

[18]
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58. If(3,2),(-3,2)and (0, k) are the vertmes of an equilateral triangle and h <0,
then the value of 'h' is.

&5 SE0arv (@gseo GoY), -‘aw e (3, 2), (-3,2), (0, 2) 58t (h<0) wad

B De0S ...
(1) 2-V3 (2) 2-243

(3) 2-3V3 (4) 3-2J3

59. If sinx + sin®x = 1, then the value of cos®x + cos’x is....

sinx + sin®x = 1 wowd cos*x + costx Dewd ...
(1) 0 (2) 1
(3 2 ' (4) 3

60. The length of a chord which is at a distance of 4 cin. from the centre'of a circle
of diameter 10 ¢cm. is .......

(1y 8cm. (2) 6cm.
{3 4cm. ‘ (4) 2om.
10 Reudaw Tgho BE5 Y Joo 2ol 1Y B wowlie 4 2o, oD &y
SMED v
(1) 8 Dol 2) 6ol
(3) 4 Do.bs. C(4) 2 el
Space for Rough Work

[18) . RTO.
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PART - I
(B) PHYSICAL SCIENCES

61, The pieces of ice appear more shining than a solid ice cube because of ....
(1) Reflection of light (2) Scattering of light
(3) Refraction of light (4) Diffraction of light

Qi Aol Baot Baleo, 48 DY Soote BNt M BREscsemr Kb

=if] 1o
(1) 08 SoWHIe . _ (2) o DHHEHe
(3) o Sidste (4) o HbEEm0

62. The atoms which do net form a monovalent ion is ...
(1) Hydrogen : (2) Sodium
(3) Potassium (4) Magnesium
S+ 360 TIE DS Bo@PaY vairEse SEEEE SEErspe
(1) 3pEas o (2) Faaw

(3)  Sreriagions (4) Pofyaedons

63. Brown ring test helps to kxmwtthe presence of ....
(1} Nitrates _ (2} Phosphates
(3} Onxides (4) Chlorides

\S Oofi? 1By, 23694 DEWEIS GIAFK HEBCO.

1 285 @ S
(3) e3: | (4) ol

[20]
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64, The substance which has highest value of specific heat among

the following ...

(1) Mercury (2) Water
{3} Alcohol (4) . Glycerine

Bod TPRE° et X 2R Deolito FDAS BIge
(1) Dusse (2) e
@ woE @) oS

65. X-rays produce fluorescence when they strike ....
{1} Barium sulphide (2) Zinc chloride
(3) Hydrogen sulphide (4) Zinc sulphide
X- 3ereo B BORE0R SN0 EORN K000,

(1) Hocnbong,E (2) ok §%24
8) wE=Eupd | (4) #eE 33,5

66. The increase in the concentration of reactants ....
(1) increases the rate of forward reaction. |
(2} decreases the rate of forward reaction.
(3) increases the rate of backward reaction.

{4} does nnﬁ change the rate of reaction.

BeirEame mEEE pile

(1) s S Setdses.
(2} W& Soghmdy B,
(3)  BEmIs BIIEMY, BotoBIcE.

@) oTv@ied® SLIRN Bty S0k,

[21] ET.0.
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87. The relation between Magnetic moment (M) and distance of neutral points
from the centre of magnet (d), when neutral points lie on the axtal line
i ... '

L X Sorranhone Gt vici Sa ey Deter SR, wokhdne® TR
(M) 5olosas wuarm et Sofic mwed Buy Detpo e & (d) o W fiv
Beuolc B PBanEloe

(1) M=23%04d"

390 4°
4

(3) M=195d°

2y M=

_1954d°

M
(4 3

68.. If a ‘[ particle is emitted from a radioactive substance, then its ....
(1} atomic weight decreases by '4' units.
(2} atomic number decreases by '2' units.
(3) atomic number increases by '1' -unit.

(4) atomic number decreases by '1' unit.

Laoir GOy HOPGe Hood wE i Sere &mto Dol oD
(1) SoEFes oo '4' Bhrere: Bibbood.
(2) 2nrew Begy "2 Earemen ool
(3 SNerw Bowy 'i‘ ERrreo Do,

(4)  EUdore Dogg 1 ERFe0 Blotooch.

(22}
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69. The value of ele{:tm-negaﬁvity in a Periodic Table ....
(1) increases in a period from left to right.
(2) decreases in a period from left to right.
(3) increases in a group from top to bottom.

(4) does not change either in group {or) period.
eIGS we &° ors a&sma&ﬁ e

(1) BOasES s teed DA I Fod Moldoed.
(2)  bOocnEE dum wod a3 3 S'eb BKyucd.
(3) upd” Pived B002 37, Tod BroKBu0.

(4) mﬁ‘ 3, HEaHEE® M 1) Bt Dexws.

70. The substance for which solubility decreases with increase in temperature
LA '

SO 2EASSpe, Erorians aﬁlwgc
(1) NaCl

(2) KNOy

(3) Cag(S0y),

(23} BT.0,
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PART - III
(C) BIOLOGICAL SCIENCES

71, For proper hearing, the human ear should have ...
(1) equal pressure on either side of the tympanum.
(2} a very large external ear.
(3) a very narrow auditory meatus.
(4) small and thick ear drum.

SIS JSERE, ST DD A Somrdyns.
(1) 55563 ot Sum Lo,

(2) Toer BEDD Dewvdd 32,

(3) T W 2:‘;.::‘5 @Sy HTER0.

(4) DB B:Bui» Swolom &oll SSH0.

72, The reflex action that is veluntary in one age group and involuntary in

ancther age group ...

(1) Respiration : (2) Digestion

(3) Urination {4) Hesart beat

3 By, O DOWOPS [HFTIF, RO DOINLIEE” LICHOBE SEyTRr dok
50 Bl |

(1) @ dom (2) 28 @

(3)  Dop DHPS (4) oo Hous

78, Identify the statement unrelated to sexual reproduction in living beings ...
(1) useful in natural selection. '
(2) offsprings resemble parents.
(3) does not occur in non flowering plants. -
{4) occurs only in animals which do not show sexual dimorphism.

Food’ Bohl HBadS Bowogio B woT, HEeNed.

(1) (P50 Soerdd aSAFmIEBl. |

(2) %o dPes, wi¥ dipose FT dowrass,

(3)  Wrpotd Duskos’ abhss,

(4] Dons BRIHED BEOUT moluiged® Srgl BbLBeSD,

[24]
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74. 1In a feast the guests, after eating food items prepared with preserved fish,
felt sick. If you think it is a case of food poisoning, name the species of the
causative organism ... . 3
(1) salmonella (2) bordetella
(3) butulinum (4) falcifarm
=¥ Dotoé, Doy Sowndy Ivod dardy Iun Sowreis OF edfes SBEE

DO, o Dostel® witte DEEOENED Dt PG, D8 SRl &80 @,

@8 Do BBl
(1) >5pa 2 sgie
(3} Heobsls (4) 25

75. The wavelength of coloured light that is not ﬁt all useful for photosynthesis,
in visible light is ...

(1) less than 400 nanometres (2} 500 nanometres
(3) 700 nanometres {4) greater than 700 nanemetres
Soddd EONL ToRE A0rae; HoclMT @by D NIBRAR SSEITED Solh SoB
BEOIRY 50 | :
(1) 400 8§ Do Sod B (2) 500 & dowby
(3) 700 > dowsdy (4) 1700 msa Soexts Sold dmyd
76. In vegetative propagation, plants in test tubes can be ohtained thruugh the

process of .. :
(1) super mmlatmn _ (2) tissue culture
(3) in vitro fertilisation_ - . {4) grafting
TH Eogied’, by TON6 Boteis Doiie DB

J (1) WE LD (2) S E

! (3) oD Tobsseasn (4) e Sipe

77. Sugar should be in the form of ... and ...... to release energy during respiration.

{A) Cellulose _ {B) Glucose
{C) Solid (D) Solution
1y B,Db - : (21 A, B
(3) AD (4} B,C
TORanE® 40 Dioto BoHEDR B ...vv... SO ......... BFS0E S0,
(A) DosSE (B) nys'E
(C) wie (D) s
1) B, D ' (2) A, B .
(3) A, D (4) B,C

(351 RT.O.



Download from JbigDeal

78.

80.

Q. Booklet |
Code A

Identify the true statement regarding 'Dionea’.

{1) lives long without taking arry food. :

(2) growth decreases, when nitrogen is abgorbed from soil.
(3) ean not produce food of its own.

(4) absorbs nitrogen by feeding on insects.

ERPAE £ Sowcdods BBy T, Mioted.

(1) 2053 estosr ke Jis Too dlised.

(2) 5Eean Bo wod Mrolivis TRILER BiBiod.

(3) wsolvome endiord; BN Hieas'Bss.

(4) dumom aitom 8BS SERIY MErdyod.

The different aspects noticed between any two successive levels in a food

(1) Increase in the available energy and decrease in the number of organisms.

(2) The same amount of available energy and the same number of organisms.

(3) Decrease in the number of crganisms and decrease in the amount of
available energy.

(4) The same available energy and increase in the number of organisms.

0.8 esliE Flossed’, JPT Dotk BES Sowe Bugis IBaDCHERs SO, voTve

(1) ogmHdi; $36° BtNse Mbin B Seagd® Srpte,

(2)  ogghodio 52 DBEEEN HRIHH S0 AP Dopg JAFwH.

(3) e tond® BHGe Sdaks ¥§ WoEPrRE® Biige.

() ogigociy 5§ SamEse Do0as Sipe Sopd® bibie.

In: a family, pressure cooker is being used to cook rice for its members. Due
to this the chances of their suffering from deficiency of the following are
less.

(1) B, Vitamin (2) B,,BgVitamins

{3} Bﬁ Wtamm [4} Blﬂ 1Il;"'i.'l'.ﬂl'.['.lil'.l. . ‘
2.4 Sowscwodt Bie §%0 @ino Soduwr3 @b %yb éﬁ&?ﬁoﬁuﬁa&sﬂ &:)‘aﬁ T
Breavce $E008 54§08 /D SrHer 650 By T SUR eswes BN,
(1) B1 Deating (2) Bg = Ba ﬁum:&.:h

(31 Bg Jesdod (4) B delom

(28]
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PART - III
(D) SOCIAL STUDIES

83, This island is situated between 8° and 11° N latitudes ..........

(1} Minicoy (2) Lakshadweep
{3}  Great Nicobar {4) Andaman

8° oot 11° S0 aFomre Dol JR0ed &y Sigen

(1) 22l (2] oy Soew

(3) n&hpE (4)  esousrs

82. These soils are derived from weathering of crystalline and metamorphic

rocks.

(1) Red soils : ' {2) Laterite soils

(3) Desert soils (4} _ [Allgvial soils

35PSRS 9500 ErSrett Tous 38 Wed N Sown
) (1) 25 Sews (2} ePodoe Sow

(3) S0 Sees . (4} zo|E: o

83. The first cotton mill was set up near ......

(1) Gujarat : (2} Surat :
(3) Calcutta {4} Ahmedabad '
D040 s Dsey TS e Beges Boitos” 1O

(1) ioecd {2y wrud

(3} Hose (4}  esinhaemets

84. 'Resorgimento wasa ...
(1)  Revolutionary organisation (2) Educational institution

(3) Revolutionary army (4) Newspaper
BFGRo0SY wioRE

(1] &85 Seve (2) Zomg "f—.r::@o
(3] 28% oo (4} =T 003

[(27) PT.O.
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85. Aland Island lies in this sea ...

(1) Baltic Sea | (2) Caspian Sea

(3) Mediberraqean Seal (4) North Sea )
Do B H1 Wseoes® anh.

(1) =088 Sasoge | (2) =onod ;:;m@c

(8) SedpPoe ShaEs (4) &BS BEabe

86. Java and Sumatra islands were the coloniezs of this country before

Independence ...
(1) France | (2) Portuguese

{3) Dutch (Netherlands) (4} England
SstholiSo T8 S0 P BAs Bkl Bes Bt BTRE Hetd TumERIT doled.
(1) @y @) Fenhiso

(3) &5 Racealy) (4) goliot

L

87. This Article prohibits the employment of children in hazardous work ...
(1) Article 28 (2) Article 24

{(3) Article 30 (4} Article 17
cremgotio 5% 51 D0 SR Bved heois HRFCEER, 59000,
{1) 285 efAcosoo (2} 24 5 D050

(3) 30 % wddahies ' (4) 17 % fddbbe
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88. India has adopted a policy for "balanced regional development” in explicit
terms during this Five Year Plan ...

(1) Third Plan (2) Fourth Plan

(3) Second Plan (4) Fifth Plan

oS Die Wode; [FeBoL el ey 1IN oy Fs DoISy Berdsdt
wuweledol, \

(1) 35 emdy (2) 45 prros

(3) 2% Pends (4) 5_;‘:: (Bemoy

89. The ratio of the mass of Water; vapour present in a unit mass of
air is called .....
(1) Absolute Humdity (_2] Atmospheri¢ Humidity
(3)  Specific Humidity (4)" Relative Humidity

2% Dbt 55rrcs™ M e S el BEHPmo @wN, AYDD 3G Do,
(1) PR esgn (2)  omstes ego

(3) 2egs (4) ¥ s

90. The nomadic tﬁbe living in Borneo are called .....
(1) Samang {2} Sakai
(3} Kabus . ' (4) Head-hunters
Soar Axed® Mshots Wbty TR jor bendi.
(1) o - (2) wow

(3) seee (4) & ¥potaly

20) - PTO.
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91. The system of appointing government servants through competitive
examinations was first introduced by these people ...
(1) Mauryans (2) Chinese
(3) Guptas (4) Persians

pd oo @6 98 orer oo BHED DoogdaoterT ERTHES T,
{1} Ry (2) Eba‘i:.:m :

(3) rowe (4) Sfcds

92. A new loom for weaving using water power was introduced by ...
(1) Cart Wright - (2) James Watt
(3) George Stevenson (4) Eilk Witini

St raod® HAS Bam, EUDGRTRES.
(3) =g HASHS 4) 2624,

93. This is not a discretionary function of Municipal Corporation ....
(1) Registration of Marriages. _
(2) Establishment and maintenance of Child-care centres.
(3) Establishment of Libraries.

(4) Eradication of Epidernics and Contageous diseases.
200y 2SR Dﬁw{ﬁm&ﬁ D& T8,

(1) Jemishe St

(2) o dcEns Soimry Homess, DUSTe

{3) Jlomprooile DTme

{4) o mw arliey

[30]
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94, These banks serve as a link between R.B.I. and NABARD ...
(1} District Central Co-operative Banks.
(2) State Co-operative Banks. -

(3) Primary Land Development Banks.
{4) State Land Development Banks.

Brstiog gORoLs Bolota FERKRE> Kog; Sers K $I3ake Rew
(1) = ﬁo@s BPTS wrotons | |

(2) CPQ. RrTY ersies

(3)  SHY i eDipd wrees

(@) T e ePid roes

95. The time taken by the Barth to eross a distance of one degree interval while
rotating on its axis is ...

Fos B wifon B8 My oo w¥ il SF0 SUNGRIS By Bivetse
; (2) 8 minutes.
(3} 5 minutes {4} 4 minutes

£1) € minutes

96, Krishna River enters Andhra Pradesh at .......
(1) Basar in Adilabhagd district.
(2) Sangam in Kurnool district.
(3) Tangadi in Mahabubnagar district.
{4) Vijayawada in Krichna district.

HIYP0 woSEdEs' 3 wod [Huyel.
(Q edoewd 2qs oo

(2) stres 208% Dol

(3) Soirerd wib dod™ vond

(4)  H e’ Ductoms

[31] ET.O.
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97. A powerful revolt which broke out in Bengal and Bihar from 1830 to 1857

was led by ........
(1) Zamindars (2) Wahabis
(3) Poligars {4) Fairaizes °
8.4, 1830 mod 1857 wux Birtd mwdain Domd oo Pprdve Jn &EHemy
Rl et
(1}  edecrt | (2) b
(3) SBosormisy ' (4) Fode

98. This Act provided separate constituencies to muslims,
{1) 1909 Act (2) 1919 Act
(3) 1985 Act | (4) 1942 Act
Sadoeld Y DOlPeY DR D0P0 DD 0 L.
(1) 1909 See (2] 1919 Sye
(3) 1935w (4) 1942 seo

99. Non-alignment movement got an international status in this meeting.
(1) The first Asian Conference  (2) Belgrade Summit Conference - K
{3) Ihakarta Summit Conference (4) Bandung Conference

w8 DTS CoBOEEH BEPSFNDS HEFHHC ceserreers
(1) eshowr orevpe Dol Suodde (2} 2E0E wardve -
(3) emo surdse (4) erooch Bardso i

~ 1040. The price of a product is determined by ...
(1) Consumers and Producers
(2) Decreasge in the Supply
(3) Interaction of Demand and Supply
(4) Increase in the Demand

Sagpe $ APae &S ouor atlntied.

(11 2EIricrdosy Bebdie &bydorton Wi,
(2) RGeSk Hul.

(8) Sarcts Soldlo BT wolfl; Heik
(4] diorell BUNte ROk,
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